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This may sound like a very provocative statement.
Next to 1,

Treat 2 times or

Do you use half or half

Which should come first,

From the perspective of human history,
I feel like the half is ahead.

Prey, harvest

On the basis of a certain quantity
Thinking twice as much

Halves and halves

By far the best of the bunch.

Half of them are more realistic.

When I was about 4 years old,
[ went to my father’s parents’ house in Totsukawa,
Flufty sweet potatoes

My grandmother gave me two.



A neighbor of about the same age

Share it with me

I said,

I tried to give the smaller one.

however

The child said,

I said no, not on the smaller side. So, I'm going to
The larger half,

Halve the smaller one,

If you give them one large and one small,
The child was satisfied,

I heard it from my mother.

Yes, even at 4 years old

You know the basics of fractions.

2x is abstract,

The two equal parts are realistic, so

It's easy to understand.

Therefore



Because fractions are difficult
In the third grade,
etc.

From the abstract concept of numbers

English is

Two—thirds

2 par 3”.

Japanese

It is 2 of 3 equal parts.

Which is easier to understand?

Divide what you already have into 3 equal parts
Capture it in a visible form,

2 of them

And to think that,

First of all, twice as many things as you can’t see
Divide it into 3 equal parts and

Which one is easier to understand®?



As well as putting adjectives in front of nouns
Adjectives as descriptions of things

Often in the habit of putting after nouns

For those who speak English

Is that also possible?

derailment

Fractions are a concept that even young children can
understand.

Maybe also in the animal world,

than 2 times,

1/2 is easier to understand

I think.

Steadily
Let’s use fractions.

This is my suggestion.



